
25052H

7,rue Gay Lussac

25000 BESANCON

Rail associé

Combined track:

 

Référence

Item Nr:

Partie haute du pivot 25052.

Matière: acier zingué

 

Upper part of pivot 25052.

Material: Galvanized steel

 

2 Vis CHC M6x25,

Réglage de l'aplomb

du portail

Horizontal and vertical

adjustment of the gate,

screws CHC M6x25

 

1 Vis TH M10x20

Vis de vérouillage 

Locking screws

TH M10X20

24

[

15

16

]

13,5

[

17

32

]

25

[

63

64

]


50

[1

31

32

]



7
2

[
2

5
3

6
4

]

119

[4

11

16

]

50

[1

31

32

]

55

[2

11

64

]

1
0

[

2
5

6
4

]

87,5

[3

7

16

]

(78 à 92 mm) 

15

[

19

32

]

11

[

7

16

]


